LAB Week 6

MATH 130 Section 3
February 28, 2019
Covering Sections 2.5 and 2.6 Your Name (Print): —_ANSWER WKEY

1. On Lab 3 you completed tables like this|before we started discussing continuity in depth. Now we will add columns
to evaluate whether or not the function is left continuous and right continuous at a particular value. In the last column,
state whether the function is continuous at the point by typing “Yes” or “No”. If you answer “No”, state whether the
discontinuity is “Removable”, “Jump” or “Infinite”. Fill in the table using the information given. For a few, several correct

answers are possible.
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, and justify that you have found them all.

2. Find the horizontal asymptotes of f(z) =
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3. Evaluate the following limits. Use the

fact that transcendental functions are continuous on their domains where
appropriate. Be sure to use good limit gramn

nar!
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]

ur answer with limits 'and sentences.
—> &

s ron YA DR R
+ X4 . Coe
b $GO = 2 i*& = -0
X2 ¢t Cel ; 4
i \)o— o o . , . . ' 1

Since limn $06) does not exvst . e not lebt conhvivove ot x = -1

X1

P

(b) Is f right continuous at —1? Justify y

v T = x

X2 -+ X5+

Sinee. lim B(X) = $C-l\§

X-=>-1*

our answer with limits and sentences.
. Lok [ FEEEE N

XX B2 Yion. Mx—&-;ﬂ “

IS, —
—

-1 )("'5*["" ' %”“’T

3y =L ako R) =L

), F e riﬁ‘r& contivuous at x =— 1\,

(¢) Is f continuous at —17 If it is, explah%al. If it is not, determine what kind of discontinuity it is and justify your

answer using definitions!
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(d) Determine where the function is continuous. Express your answer as the union of two or more intervals. Use your

theorems!
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5. If f(z) = z? + 10sin (%—) show that there is a number ¢ such that f(c) = 1000. Try solving this without using a

calculator (choose numbers wisely!). To solve this you should be using (and stating that you are using!) a theorem and

you should not actually find the ¢, just show that it exists! >
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